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MFM 2P NUMERACY REVIEW — DAY 3 - HMWK DATE:
EXPONENTS
Example 1 Example 2
(2N =2x2x2x2 Calculate 22 x 3
_ T’K %—?:ndw .
24is called N Thisisa Solution
the pover P B2 22x32 =2Xx2Xx3X3
2is called the base \ / =156
4 is called the exponent .
unlike bases
1. Evaluate: write the value of each.
@ 2 = v () 3*= %) )= (o
2. Simplify.
(a) 3x2° (b) 2 x 4? (c) 22 x 33
-T5 = AX o = b x L}
z Atk = 36 = 10%
(d) 32x23 (e) 23 x 42 (f) 5%x22
= A% = YV = 295 1%
= 1% = 1 = 00O
3. For each power, what is the base? the exponent?
(@) 2% base: 9. exponent: 3 (c) 2° base: 2. exponent: S
(b) 3* base: 3 exponent: i (d) 36! base: =  Exponent |
4. Write each expression as a power.
() 3x3x3x3x3 (b) (-5) x (-5) x (-5)
-~ =2 5 = L_‘“‘ %) .
(c)2x2x2x2 (d-5x5x5
o o5 i
= A =z =
() 5X5x5 (f) 6x6
_ 3 2
=5 =
() 4X4X4x4X4x%4 (h) 10x10x 10x 10x 10
= = = 5
- l_* —

10
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5. Write in expanded form.

@ 5= GXS) ® 6= (LXLYLXL)
(@ %= (00 @ (= (Y mYm)
© = (A Yn) @ 3= (3XIA3NB)
6. Evaluate
(a) V16 = L bV36= b (©) V20 = L, 471
7. Evaluate.
(@) 72 +2° (b) 4°-2° (©) 5++v25 —10 =
e e = oy - 32 . S5 1D
= B9 2 32 z2 D
(d)3X23 (e) 32X22 (f) 4‘2_62+\/4-_=
7 (8 = 94 x4 = -3 +7F
> A4 = 36 T =13
(2) V25 + 4% — 1* (h) V50 — 1 (i) V20— 4 + 22
= Stle - = THg =l +4
= Lo = = = H + 4
=%
() 3> —V8—14+22 (k) 62 +10° (1) VIZ—2 + 102
= 0\——r+'““‘ = 3o+ 10O '::‘Y_\’O" c1or
= Q- 2L+ = = Bl x 10O

=\ =



